Biology 111


In-class Exam #2 



October 10, 2016

For each question or statement select the best answer or completion. Mark your selections on a scantron form using a pencil. 

1. Endocytosis takes multiple forms, in ____________________ particles from outside the cell are taken up.
a) glycolysis
b) phagocytosis

c) pinocytosis
d) receptor-mediated endocytosis
e) exocytosis

2. ______________________ involves uptake of extracellular fluids.
a) glycolysis
b) phagocytosis

c) pinocytosis
d) receptor-mediated endocytosis
e) exocytosis

3. In _______________________ ligand binding triggers vesicle formation.
a) glycolysis
b) phagocytosis
c) pinocytosis
d) receptor-mediated endocytosis
e) exocytosis

4. Among the organelles of the cell the site of aerobic metabolism (or aerobic respiration) is in_____________.

a) mitochondria

b) nucleoli
c) nuclei
d) plastids
e) ribosomes

5. Among the organelles of the cell the site of photosynthesis is in_____________.

a) mitochondria

b) nucleoli
c) nuclei
d) plastids
e) ribosomes

6. Both plastids and mitochondria have how many membranes?

a)  none


b) one 

 c) two

d) four

e) at least six

7. According to the endosymbiosis  hypothesis, an early __________ came to live within an early _______.

a)  eukaryote, prokaryote
b) prokaryote, eukaryote
c) plastid, mitochondrion

d) nucleus, plastid

e) eukaryote, mitochondrion
8. Which of the following are responsible for anchorage within cells?
a) microtubules 
b) microfilaments 
c) intermediate filaments 
d) a, b, and c  
e) a and b only

9. Which of the following are responsible for movement within cells?

a) microtubules 
b) microfilaments 
c) intermediate filaments 
d) a, b, and c  
e) a and b only
10. The net movement of types of molecules (or atoms or other entities) in a fluid from high concentration to low concentration as a result of random movement is called _________________.

a) kinetic energy
 b) thermodynamics

c) osmosis
d) diffusion
e) thrombosis 

11. The net movement of water across semipermeable membranes from high free water concentration to low free water concentration is called _________________.

a) kinetic energy
 b) thermodynamics

c) osmosis
d) diffusion
e) thrombosis 

12. A solution that contains a low free water concentration and therefore draws water from cells is said to be ____________.
a) hypotonic

b) hypertonic

c) isotonic
d) biotonic
e) alphatonic

13. While cell membranes are composed primarily of phospholipids that form an hydrophobic barrier they also contain ________________________ most of which that serve as transporters  of specific entities across the membrane. 
a) oils and fats
b) DNA molecules
c) proteins
d) phospholipids
e) carbohydrates

14. Across membranes transport through ____________ is termed passive transport as the transported entities are moving down concentration/electrical gradients.

a) ion pumps
b) carriers and channels  
c) enzymes
d) ATP

e) NADH

15. The principle ion pump in animal cell membranes uses energy (from ATP hydrolysis) to push Na+ out of the cell and to move _____________ into the cell.
a) H+

b) water
c) enzymes

d) fats and oils

e) K+
16. A child on a swing swinging in air will steadily slow as consequence of  ______________
a)  Baumol’s law

b) Newton’s first law

c) Newton’s second law


d)   the first law of thermodynamics
e) the law of supply and demand
17. An exergonic reaction can also be referred to as a(n) _____________ reaction. 
a) acropetal
b) virtuous
c) contagious

d) spontaneous 

e) oxidative

18. Reactions that require an input of energy are called ________________ reactions.

a) endergonic

b) exergonic

c) frictionless
d) exothermic 
e) high definition

19. The initial input of energy required to start any reaction is referred to as...
a) digeotropism


b) activation energy 
c) spontaneous energy


d)   forgotten energy

e) facilitation energy

20. To start a fire, it is easier to strike a match than to rub two sticks together because the match head chemicals react with O2 more easily due to low _________________.

a)  digeotropism

b) activation energy 
c) spontaneous energy


d)  forgotten energy

e) facilitation energy

21. Enzymes, like all catalysts, function by decreasing the __________ required  by a reaction.

a)  kinetic energy
  

b) activation energy
c) chemical potential energy  

d)  positional potential energy 
e) either c or d

22. Individual kinds of enzymes are typically highly specific in that they tend to ________________.
a)  have a long name
b) catalyze just one reaction

c) are always in very low concentration

d)  have a high turnover rate

e) are generally typical of a single species

23. Cooking kills germs because it “denatures” ______________________.
a) nucleic acids

b) carbohydrates
c) proteins
d) lipids
d) steroids

24. Endotherms are often also called ________________organisms.
a)  lower life
b) cold-blooded 
c) exogenous   
d)  warm-blooded     e) fresh water

25. In so-called ________the final product of a metabolic pathway binds to the initial enzyme of the pathway.

a) blow-back decision
b) feedback inhibition
c) reaction decision


d) formal derision
e) internal decision
26. So called coupled reactions are ones in which _____________________________.
a) the energy of a spontaneous reaction provides the energy required by a non-spontaneous reaction

b) the energy of a non-spontaneous reaction provides the energy required by a spontaneous reaction

c) the energy of a non-spontaneous reaction provides the energy required by a non-spontaneous reaction

d) the energy of a spontaneous reaction provides the energy required by a spontaneous reaction

e) none of these.

27. In a coupled reaction, low energy molecules are typically made more energy rich through the addition of ___________________.
a) a steroid
b) an amino
c) an hydroxyl
d) a carboxyl
e) a phosphate

28. Allosteric enzyme regulation involves ____________________________.
a)  cholesterol 
 b) binding other than to the active site
c) binding to the active site



d)  a byproduct molecule
e) both a and d
29. In so called ________________ pathways large molecules are broken down and energy is released so of which is captured in the production of ATP.
a) anabolic
 b) catabolic
c) bucolic
d) forest
e) everyday
30. In the aerobic respiration of glucose each molecule of glucose is completely oxidized to __________.

a) nucleic acids

b) CO2 and H2O
c) oils and fats

d) steroids
e) amino acids 

31. The first few reactions of glycolysis can be referred to as glucose activation because __________ are added to the glucose molecule.

a) two phosphates
b) three amino acids
c) pigments
d) steroids
e) CO2 and H2O


32. The net energy yield of the glycolysis of a single glucose molecule is _________________.

a) 2 ATP
b) 4 ATP
c) 2 NADH
d) 4 NADH
e) 2 ATP and 2 NADH
33. Formation of Acetyl CoA occurs in the_________________________.

a) cytoplasm
b) matrix 
c) stroma
d) thylakoid
e) endoplasmic reticulum

34. Each turn of the Krebs cycle alone releases ____________ molecules of CO2?

a)  none

b) one 

 c) two

d) four

e) at least six
35. Each turn of the Krebs cycle by itself produces ____________ molecules of NADH?

a)  one

b) two 

 c) three

d) four

e) six
36. Besides NADH, other energy released in one turn of the Krebs cycle is directly captured in the formation of __________________.

a) 1 FADH2
b) 1 ATP
c) 1 FADH and 1 ATP 
d) 1 DNA
e) 1 RNA

37. In the last step of aerobic respiration, NADH molecules pass energized electrons to an electron transport chain in the inner membrane. Movement of electrons through the electron transport releases energy used to pump____________ out of the matrix across the inner membrane.

a) CO2 

b) H+

c) O2 


d) NADH
e) ATP
38. The terminal electron acceptor of the electron transport chain of the inner mitochondrial membrane is ________________.

a) water

b) NAD+
c) NADP+ 
d) CO2 

e) O2 
39. As the central catabolic pathway of cells, glucose respiration is also used to burn other fuel molecules. In the case of fats, the glycerol backbone of each molecule feeds into glycolysis and the fatty acids are fed two carbons at a time to _________________.
a) glycolysis      b) pyruvate oxidation      c) photosynthesis    d) chlorophyll       e) nucleolus

40. Sprinters are limited in how long they can sustain a fast pace by their ____________.

a) glycogen stores      
b) aerobic capacity      c)  photosynthesis      
d) anabolic reactions    
e) lactate acid threshold
41. The pace of “middle distance” runners is limited by __________________________ .

a) glycogen stores     
b) aerobic capacity      c)  photosynthesis       
d) anabolic reactions   
e) lactate acid threshold

42. The pace of long distance runners is limited by _________________________ . 

a) glycogen stores     
b) aerobic capacity      c)  photosynthesis       
d) anabolic reactions   
e) lactate acid threshold

43. VO2max is a measure of __________________________ . 

a) glycogen stores     
b) aerobic capacity      c)  photosynthesis       

d) anabolic reactions   
e) lactate acid threshold

44. In plants photosynthesis occurs exclusively in the...

a) mitochondria

b) chloroplasts

c) endoplasmic reticulum

d) golgi


e) nuclei
45. The light-dependent reactions of photosynthesis occur in _________________.
a) cytoplasm
b) nucleus
c) thylakoid membranes

d) matrix
e) stroma

46. The principle pigment of photosynthesis is __________________.

a) steroids
b) glucose
c) chlorophyll 
d) PGAL
e) NADPH

47. The light-dependent reactions of photosynthesis capture light energy through production of ____________.

a) ATP

b) NADH
c) NADPH
d) a, b, and c
e) a and c but not b
48. In the light-dependent reactions of photosynthesis the terminal electron acceptor is ______________.
a) water

b) NAD+
c) NADP+ 
d) CO2 

e) O2
49. The light-independent reactions (also called the Calvin Cycle) of photosynthesis take place in _____________.

a) cytoplasm
b) nucleus
c) thylakoid membranes

d) matrix
e) stroma

50. In the first reaction of the light-independent reactions the enzyme Rubisco combines ________________.
a) a five carbon sugar with CO2 

b) a three carbon acid with CO2 

c) CO2 and H2O


d) 2 ATP with H2O


e) 2 ATP with CO2
